Geometry (G.CO.9)
Unit One B: Proofs with Parallels #4 (1C29)
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1. Given: line k || line | .
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Statements Reasons
1) line k || line l 1) Given
2) £5=2z1 2) Given
3) 21 = £6 3) |l lines SAlt Ext £’s =
4) £5= 16 4) Transitive Property (2,3)
5) linem || linen 5) Altint 2’s = - || lines

* Step 3 could have alsglbeen 24 = £50r 21 = £2 (|l
lines >Corr £’s =)

Name:
Date:

Period:

2. Given: 21 = £3; BE bisects ZABD

Prove: CD || BE

Statements Reasons
1) 21 = 23 1) Given
2) BE bisects 2ABD 2) Given

3) 22 =13
4) £1 = 22

5) CD || BE

3) Def of £ bisector
4) Transitive Property (1,3)

5) Altint £’s= - |l lines



3.Given: DA | CB ; 21 = £3;

I D C
Prove: AB || DC
Statements Reasons

1) DA Il CB 1) Given

2) £1 = £3 2) Given

3) 21 =22 3) |l lines 2AltInt 2’s =
4) 212 =213 4) Transitive Property (2,3)
5) AB | DC 5) Altint 2’s = - || lines

4, Given: 2E = £G;

EH || FG
Prove:EF || HG
Statements Reasons
1) 2E = £G 1) Given
2) EH | FG 2) Given
3) 21 = 22 3) |l lines >AltInt 2’s =
4) FH = HF 4) Reflexive prop

5) AEHF = AGFH
6) £3 = 24

7) EF | HG

5) AAS
6) CPCTC

7) Altint 2’s = - || lines



